G“ Us @

UL'C-ULEER

Relay-type Terminal Block

A +15
5 B+ i £y F . pitch 16mm

15 2 B | UF1005-60A-PCA
H r—. E & AC600V 60 A

Rating
@ HERIEM DC500V  100MQ LA E
f lusulation Resistance] DC500V  100MQ and over
E it & E AC3000V 143fEl Ll E
Withstands Voltage | AC3000V Iminute and over
R CE
2| . Screw Dia:r‘n:eter M5
[ w BFE 4-10AWG (UL/C-UL)
o Compalt:i E%V?i re 4-8AWG (Tuv)
HEEE N F R14—5

Recummended Crimp Termina

ULEE#R A | 779 M) —04% UV /FWT

UL Wiring Method Factory Wiring
—H%/2 2%/ General Tolerance 0.5

| RE.“Scalel[ H{L  Unit mml

10

i A
gr==ji== I==I c :
® ! = [f
: : [
6

FJG

5
%
18

2

)

/)
[
E ] LN -
1L
'____::)}_i /—|_ - - — -
B ——i_- r I I I
l\t@ AN ®
j /
3
/L
/17

z o o
/ / S °
@ @ ©), @ iR 7

Ok A P.

« Ordering Form:Type No. No.of Poles(P) S B %

S AERRE R KT BV 2 2. 4N,

* Connection screw:Tightening torque is 2.4N-m.

M R RN B RSN, R — 5 R T, — T,

« Application:Commercial appliances, including business equipment, electronic data processing equipment, etc.

or general industrial. '|/ \ ¢ V '“/_\L‘

c FOMA T ary wa—bE—2A (F2117) — 7 - v _

« Other options  *Jumper (F2117) - V/ /r‘ V/ /) ' ? /I?V /r" A

W {4k Specifications. 9]

#BE/Part No, #BE/Part No. #E . Material ##. Standard Ti&/Size ALER/Treatment {#i%/Remark @ @
1 IS Internediate base | 7 = 2 — VB Phenolic UL H {8 Black Eﬁﬁ@ E_E
2 WiF A End base A | 7=/ —HHIE  Phenolic UL & Black Mg /Poles 1P 2P 3P 4P 5P 6P P 8P 9P 10P 11P 12P
3 ilifi - B End base B|7=/—AHilE  Phenolic UL M8 Black
1 S —— s — oo P P B —— A 44 60 76 92 108 124 | 140 | 156 172 188 | 204 | 220
5 R E R Screw ] Brass 2700 M5X0.8X120 | =yhAy%  Nickel-Plated WSz hAFR Type® B 34 50 66 82 98 114 130 146 162 178 194 210
5 T Varking srio| 77 A Fiber 0w 7 0.8 B hite C 32 | 48 | 64 | 80 | 96 | 112 | 128 | 144 | 160 | 176 | 192 | 208
7 73— Cover HYH—H%—F  Polycarbonate UL HJE 1.0 % WA Transparence
8 A= E A (over Retaing scren # 4 Brass C2700W M3X0.5X60 | =yhAy%  Nickel-Plated PIZAAFA Type® W4 /Poles | 13P 14P 15P 16P 17P 18P 19P 20P 21P 22P 23P 24P
9 SRV b Connecting bolt % Steel SWCH M4Xx0.7 Zff7mA=b Triveot Chronte Trstment F A 236 259 268 284 300 316 339 348 364 380 396 412
10 JifEJ > b Connecting nut #% Steel Niel M4X0. 7 ZiiymA=b T Cionse Trstoent
11 Mtk F 22— Tnsuration Tube | HEEE=—/  Polyving] chloride UL B 226 242 258 274 290 306 322 338 354 370 386 402
12 o=k Fu b Insert Nut 4l Brass 36048 M3X0. 5 A v %L Noplating C 224 | 240 | 256 | 272 | 288 | 304 | 320 | 336 | 352 | 368 | 384 | 400




